In

Let f(x) = —x—x-,x >0

a) Show that f'(x) = ——

x2

b) Find f"'(x)

c) The graph of f has a point of inflexion at A. Find the x-coordinate of A.

In

a)f(x) =—

X
X

x-l—l-lnx

! _ X
f (x) - [X]Z
1—Inx
fx) =—=
X
, 1—Inx
b) f'(x) =—
X
2 1
x“|—=)—2x(1 - Inx)
Fr(x) = ————r
[x7]
" —x — 2x + 2xlnx
10 = ———
" —3x + 2xlnx
f100) = ————
" x(—=3 + 2inx)
f160) = ———
" -3+ 2inx
f100 = ———
c)
-3+ 2inx
——= 0
X
—34+2lnx=0
2lnx = 3
Iy — 3
nx = >
3
X = e2

This is a quotient so we need to use the Quotient Rule

9(x)
h(x)
h(x)g'(x) — h'(x)g(x)

[R()]?

We need to use the Quotient Rule again

Solve f""(x) =0

Sincex # 0

Take inverse logs of each side of the equation
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